EJI:LIEE rROOT

THE CUBE AMND CUuUBE RoOooT

Canmiclor M as ilhve co'be soaod wnal ™ on ihe cubse.
T wwhe o vumbe s muliipls i 5 dnmaes,

I =2 i culer of Fovronhl e EaPaP=H
-“‘-.,_‘_‘ _r',,-f" IF 2= A the cubee of A4 seanshl b o =t
- 4

IF %=27. ithe cube roes woald be F because

o T T
X’=Y 3y
!
I::qul-:l.l-rl-r'll'ur-l:l.l:ﬂ _::I
" am3 T oy 3 ges opmad
5 o 1Q L w0 L EE t.-:.
{fﬁﬂ!ﬁh:uhl“: :|
i 4 E k5 4.
216 1 % 3.| T 3.,| 1301
B & T s
3.,| ] z'.l T35 3.| £5 3-,| BED
- 1@, T 12,
3l|| 125 34 343 A 1 ﬂ'll =&
T 4. T TE
j-|| L !.ll (L= i i e ] 3|| T4 fI-,l ]



